


ASSESSMENT

Prehistoric site setflement

The diagram below shows an area in South-east England.
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In prehistoric times a tribe of people came to settle in this area. They
had been driven away from their previous home because their village
had been attacked and destroyed. Their enemies had crept up without
being seen and so the tribe had been easily defeated. :

The tribe held a council meeting to decide where to build their new
village. The different groups of people in the tribe wanted different sites
for the village. These are their reasons.

e The warrlors insisted that the new village must be easy to defend, They wanted somewhere with @
good view where they could be sure no-one could take them by surprise.

e The builders wanted a sife with land that was flat and dry, but had a good supply of timber nearby
for building huts and fences.

e The water carriers wanied io be near to fresh water, and aiso near to a supply of clay to make
their pots.

e The shepherds wanted land with short grass that was suitable for their sheep. The land also had fo
be dry, because they knew that wet soil might cause fheir sheep to get foof rot.

e The catftle harders needed land that was moist so they could gef rich pasture for e cows. They
also insisted that the slopes should not be too steep, because the cows could notf climb stopes.

e The farmers who grew wheat to make bread, and barley to make beer, wanied flat land with ferile

soil for growing good crops. They aiso had to be near a water supply in case they had a dry
summer.
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ill learn how settlements change over time -
No settlement remains the same for ever. Settlements change over time. The

diagrams below show the same village in 1890 and in 1990.

Dlagram A Village in 1890
‘ Lane \\\

Dlagram B Village in 1990
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1 Look at Diagrams A and B above. Complete the table showing how the
use of the buildings has changed.

Village in 1890 Village in 1990 :
. School and playground
Holiday homes
Restaurant |
Tea rooms
Farm buildings

2 What has happened to the pond?

3 Is the settlement where you live changing?

If so, how?

Settlements never remain . They

overtime.
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See pupils’ book pages 47 and 109 ;3':
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Setflement patierns

ACTIVITY SHEET

1 Show the size of the following settlements
by writing the labels below in the
spaces in diagram A.

INIE
City ~ Hamlet — Town  Village Q&@Zﬂ)

You will need to use the OS map of Cambridge
(page 109) for the next three questions.

2 In the following sentences two or three
words are in brackets.
Put a line under the correct word to finish

LA Y
each sentence. ﬁé@@?\‘f'
a) The largest settlement on the map is w

(Cambridge / Grantchester / Foxton).
b) Cambridge is a (village / city / hamlet).

¢) Grantchester is a (village / city / hamlet).
d) There are many (small / large) settlements and a few
(small / large) settlements.

3 In the following sentences two or three words are in brackets. Put a
line under the correct word to finish each sentence.
a) The settlement between Great Shelford and Trumpington is
(dispersed / linear / nucleated).
b) The settlement at Haslingfield is (dispersed / linear / nucleated).
¢) The seftlement in grid square (4548) is (dispersed / linear /
nucleated).

4 The maps below show four settlements on the Cambridge OS map.
The settlements are Foxton, Coton, Barton and Newton.

Key

Main and
secondary
roads

Other roads

Buildings

a) Number Dis b)) Number@is

Match up the names of the settlements with the numbers of the maps.

¢) Number () is d) Number (@) is

5 Make a simple sketch of Little Shelford on a separate sheet of paper.
k Label it as dispersed, linear or nucleated.
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ACTIVITY SHEET

See pupils’ book pages 52 and 53 §
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Land use in g town

1 The list and wordsearch below contain 11 words or terms about settiernent.
a) Find the words or terms in the wordsearch.
The words read from side to side, downwards and diagonally.

Cenfre RTQPSNLDSRAGCS
Land use NOITCNUFUIGHF
CBD DFLGOHBZBZIDEJ
Funclion LEKAURAQUGCOIT

: POJINSPLRMLNEK
Inner city MNQKTDYRBNENE
Hierarchy CENTREUUSMMEDO
Seftiement BSRJYGBGFSEKNRP

: DUTXSTELERSCQ
Countryside WUD I THTUVTXI Z
Zone ACZIDDTDWNWOTYV
Town BMHIERARCHYYR
Suburbs ECRSLZITXYMTLP

b) Write each down word next to the correct sentence below.

The central part of the city where shops and offices are,

The area of housing on the outskirts of a city.

The rural areas surrounding a city.

The area between the city centre and suburbs.

2 Study the diagram below which shows the zones (areas) of a city and their surroundings.

Open space and parks
Council estates

Semi-detached housss
Smafl shopping centre
Small industrial estates

Large shops
Offices
Enterfainments

QOld houses
Industry
High rise flafs

. . Open couniry
a) Colour the centre of the circle red. the next circle brown, the outer | Fqrmiand

circle yellow and the rest of the diagram green. Smafl villages
b) Label the four zones by writing each of the following in the correct
boxes on the left of the diagram.

CBD Countryside Suburbs Inner city

¢) Draw arrows from the boxes on the right to the correct zones on the diagram.
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See pupils’ book pages 48 and 49
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Cities — their good and bad poinis

Dick Whittington was attracted to London because he thought that
the streets were paved with gold. Many people all over the world are
still attracted to big cities. They think there are many good points
(advantages) in living there.

1 Diagram A shows some good points of living in cities.
Write down four of these good points.

a)

ACTIVITY SHEET

b)

)

d)
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2 When Dick Whittington arrived in London he found that the city was
very different. He spent the first night without food and sleeping in a
shop doorway. Many other people all over the world have found bad
points (disadvantages) in living in big cities.

Diagram B shows some of the bad points of living in big cities.
Write down four of these bad points

a)

b)

c)
d)

3 Write a paragraph on a separate sheet of paper to explain what you
like about living in a city.
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v ASSESSMENT
.=
= | Setflements: fown and couniry
=
e Study sketch A on the separate sheet. It shows part of the central area in a town.
~ 1 Look for three pieces of evidence that show this area is easy to reach
e by different forms of transport.
o Form of transport Evidence
a)
, b)
—d 5 @
— 2 a) The top left part of sketch A shows part of the CBD. Below is a list
B of functions. Underline the ones you would expect to find in a CBD.
= Housing estate Night club  Council office  Theme park
, Department store  Corner shop Multi-storey car park
= Primary schools Bank Airport (3
i) b) Give one reason why the CBD is a good location for the functions
you underlined in a).
g
i 3
ad] 3 Explain why there are a lot of very tall buildings in the CBD.
i
—i
(3)
g,
4 There is a row of old terraced houses labelled X. These have all been
-] converted to offices for small firms.
a)} Why do you think the people who used to live here wanted to
| move away from this area?
=
-3 ®
i§ b} Why do you think this is a good place for firms to have their offices?
L)
i
. (3)
a
N 5 In the bottom right corner of the sketch there is a small corner shop.
o It does not have as many customers as it used to have 20 years ago.
a Suggest reasons why this is so.
.-
il
E( (3)

b &
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